This question paper contains 2 printed pages.]

HTTR ST .
7750
ML.A. (Trw.) /11 A
HINDI (f&=h) — Paper 9 (uw=uw 9)
(= re)

(AT Y 2000 W FeavaTR)

wF: 3 gued Ui : 50
(WW-Wéﬁﬁmﬁa’Tmmwﬁmﬁﬁpmwmaw
ferf 1y
e W—wmaﬁﬁ@ﬁwmq,%ﬁmﬁw%aﬁv

it & fo A § ) s \Wﬁﬁ‘{i
Terentérall) % o 57 aft &1 e iR

- qaR Y G R SR |

1. AWET ST T

(F) I H g 2, A a9 |

Fr T e it 7 T fe
areran

T WET & AR AT W, T gER 6=
W%?”WWWWF?{HW
T ET | W T A W e, @ g
AR 1 A w0 st =g e | 7

7750 1 P.T.O.



2.

4.

7750

(@ wuiFaefaggen
e =g off TS SRR Bl
3 fot et <t ferem a=er A & |
Ferafy @t & @@ it
THPY # afe TS0 TR E
JTAT
T-%-5 | UF-A ' Mg U-9 § A e !
HEAT- AT e, T -rr ?
T Hh U | 7

« TR AR FHIN A UF WEOTE ARE @ 1 - W
T I T BT |

arear
«3TEY TRP % 2T TU H i Ay e AR
vt Aeg-wiel i wgtaa yEm e Ty R
i | 12

T e W A P e W feEn S |
2T

< ST IR T W R T
fere=r ST 4 12

« < 3TTH-2TYY" BX Y AT T S § 1 R BT |

arerar
- 27T T LTHIST R WHIT AT | 12
2 500



